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Write down about the development of banking concept. Describe current status of Banking sector of

Nepal. 5+5=10
IR T Tedeueat ufma &2 @ gdefes w& 99 TH89 | Giving the introduction of share and
debenture, describe the differences between of these two. 5+5=10

HET U, 053 FAYR GATH a0 7777 et wraet fog saaeEan Seord TR |
Describe about the Special provisions relating to company not distributing profits as per Company
Act, 2063. 10
e aen famira e e T, 003 A1 Seor@ WU FHISH % qu fada geen m, mie a1 wiit T
Hraeei SHTEITAIY YeRreT UIHEr | Highlight on the provisions on Merger and Acquisition of Bank or
Financial Institutions as mentioned in Bank and Financial Institution Act, 2073. : 10
‘ e T Yo g
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Give an introduction of Cash Flow Statement. How is Cash Flow Statement prepared? Clarify with
example. 3+7=10
F FE THRH JAEE T TR @S gae ? SV fRger | it JEee! YuE AR AeEE
WA &1 98 ? F9H TR | What type of errors a Trial Balance can not show? Examplify. How
is the effect of those errors on Profit and Loss Account? Describe. - 5+45=10
T B9 g BRUEE T e F1Y SUeT TSI Savashare aasderd | 4ol B WA el el %
HE deed fguR s 7 dEee | Expiain about ‘the causes of and need for providing
depreci'ation; Which factors should be considered while determining the amount of depreciation?
Write. ' 3+3+4=10
sifafyaa um T fafved g sraeam ot sraedTes T yafed adeeean e Iigerd | Highlight

about the techniques of inventory management while in the condition of uncertain demand and

certain demand. 10
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E-mail system & &I 19 TS ? HETH TEgad | 90
How does e-mail system work? Write in brief. 10

Intranet T Extranet 519 %% BeA39e9 | Extranet 1 HIESeE & g 2 90 THerq |

Differentiate between Intranet and Extranet. What are the benefits of Extranet? Describe. 5+ 5= 10
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SSoTE TRt ReAgR | ST SEvieR et SfEegt & Maslow i Hierarchy of Needs Theory
F IIEFI FR T D 2 3T e | 3+9 =10
Define motivation. How is the effectiveness of Maslow's Hierarchy of needs theory for the
motivation in banking sector of Nepal? State. g 3+47=10
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Write down the interrelationship between conflict and stress. How can be stress of employees

managed in an office? Clarify. 5+5=10
arfierae T rEged | sifuerg STERAITA SR FAEIE e 9 seay 8 2 A 2 9
T | .- ; 3+9=90
Write down the definition of record management. Which stage is most important in the record
management cycle? Why? Describe. 3+47=10
mﬁmhmﬁmmmmwmnﬁm ? TR RIS v femfor
FisFAT R e TS 2 aH T | ¥+%=90
What various means of communication are used in modern bank and financial institutions? How
does it help to management in decision making process? Explain. ' 4+6=10
Wmmxwaﬁamw%mmﬁamq@m 90
Clarify the similarities and differences between Total Quality Management and Quality Circle with
appropriate examples. 10
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What is socialization in an organization? If an employee is not socialized after his/her selection and

posting, what may happen in an organization? Explain. - 3+7=10
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If a financial institution has disbursed total loan of Rs. 50 billion, of which 25.50 percent in

agriculture sector, 30.25 percent in business sector, 20 percent in tourism sector, 10.75 percent in

industrial sector and the rest in hydropower sector have been invested. Find the invested amount in
each sector. 10
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There is a ratio of present ages of two girls is 2:3. After 7 years, if the ratio of their ages will be 3:4,
find their ages at present. : 10
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In Nepal, remittance has not been entered as expected through the banking system. What problems

has it created? What measures should be adopted to make inward flow of remittance through
banking system? Present you opinion. 5+5=10
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What do you understand by inter-branch and inter-bank transaction? State the method of checking
accuracy of inter-branch and inter-bank transaction. Why is it necessary? 4+6=10
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